Summer Assignment - MYP Chemistry 2020-2021

This summer assignment is intended to be completed at multiple sessions, NOT at one sitting. You should be prepared to
THINK carefully about each response, rather than quickly writing down something that just comes to mind.

Completion of this assignment will not be a grade, but this content will be revisited in class, and you will be expected to have
finished it ahead of time. If you choose not to complete it prior to school starting, you will not be given extra time when we
address it in class, and will still be held to the same criteria as students who have already completed it.

1. Questions for Reflection: For the following questions, take time to think
carefully about your response, and craft it to be concise but complete. There is not an
exact answer for any of them — the purpose is for you to think very carefully about what
it means to study science, and what it means to learn science. Each question
response should be at least 3 sentences but not more than 10.

a. What is science?

b. What is a scientist?

C. How does one become a scientist?

d. Why do we use the scientific method?

e. How do we use the scientific method? Think of a practical application, not in

science class or formal research.

f. Why is it important to understand science?

2. Periodic Table: Please memorize the element name and symbol for each of
the first 40 elements on the Periodic table. (Periodic Table is included on the
next page.)

3. Math skills: Practice rearranging the equation below to solve for each individual

variable, clearly showing every part of each individual step in the process, for
each variable.

axb=E
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